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COMMERCE AND ACCOUNTANCY (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting guestions}

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.
Attemnpts of questions shall be counted in chronological order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUS—A / SECTION—A

1. ﬁq%f@aﬁmzﬁﬁq(mmlsbmﬁﬁ):

. Explain the following {each in about 150 words) :

(@)

(6)

(c}

{d)

(e).

- o Pt & gEerAtes g

Cybernetic Aspects of System Thebry

WW(%WH)WW(@)

Scope of Impression Management

Heawe (femiz) oA

. Fishnet Crganization

s (Afww) dvee g i wrd

Problems in Matrix Organization Structure

wa-uhE
Managerial Grid

‘g w dE wEE W 8 St P A wafin FEsanl & qhen @ S WY, 39
R wet ) i 3 forg, R ot wSed w9 ¥ T SN 1 T A S T W,
e ¥ TEaAr afeeen w ==t i)

“Organization is the human group deliberately and consciously created for the

 attainment of certain goals with rational coordination of closely relevant

activities.” In the light of this statement, discuss the distinguishing features of

- an organization.

b}

{c)

‘e (@ wehew) St sEtor % Ty St 8 1 @ €, Al SR wEe aa
aft IEEFN | Fav & a1 w5 ot T T Rer 2 31 foh fifvw) 3 e % o
o & fre YR sREEd siRE gue o ST we s W ¥

“Quality circles are getting popularity for academic purpose, but they tend to
show little or no effect on employee satisfaction and productivity.” Comment.
How can these quality circles be made more effective and viable in their
approach?

emnﬁwm(aﬁaaaﬁmﬁm)m%?wmm%m&aﬁsﬂaﬁmm%?sﬂ%
ot *iv e w1 e A

What is virtual organization? Do you visualize it in Indian scenario? Examine
its merits and limitations.
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(@)

(b)

(c)

fa)

(®)

fc)

“arfiii (df2AwE) A it il ow-gm g 2 9 1 afet ]1 sea, 7 T
gyl o wEee o I TR Al a1 @ B W wEt Hifeg afit e
i & o wd-am geme

“Most of the theories of motivation are complementary, but not competitive to

each other. Hence, there is need to understand their interrelationships and
integrate them.” Discuss the statement and suggest action plan for integration.

‘e ufdw 3R 3% ArEAeHE ST ¥ 9 U g s gy 217 T8 9 & [Nwem
i ot 363 wom § T G #1 e dar F9 F Fedl w0 gww dw
“There is a positive relationship between the organizational environment and

its structural design.” Make an analysis of this statement and in the light of the
same, suggest steps to design an organization.

Fenr g | 27 w7 FHivens o ¥ @9 & W 6 3 s AR €7 2 s gt
o v wwfae wa €7 w=f fifw

What is charismatic leadership? Are charismatic leaders born or made? How
do they influence followers? Discuss.

‘TR § WaNR (FHfRIR) Wi eMEreTE JE @, W 9% e @ TR @ S gl
wfatar vre FINT) 7@ FA & wo@E Pigad 71 37 TR vewE # sRgEa orfte
agfarefia o sl TR & e & gEmaes o w1 e Bl

“Conflict in an organization is not always problematic, but it paves the way for
development.” Elucidate. What are the possible implications of this statement?
Develop a suggestive framework to make the conflict management more
responsive and effective.

“grradfta oo w1 ot I Wi AeEnl @ 8, Rrm wft F wie @ Pl oy @ agn @
gt @R * W | o &1 @ R = favoew i st aeRTos SEeR § sTeE
w3 9@ FR0 W R ey aeife @ TR & dr-alet ol Aifkm

“Organizational politics refers to intentional behaviours that are designed to
enhance or protect a person’s influence and self-interest.” Analyze the
statement and discuss the reasons contributing the political behaviour and the
way-outs to avoid organizational politics.

"l deph wdaifat F wmed ok ovE ¥ aifte geET % R W Fwin F0 W Tw 2
%1 7% =hwr twferm ot R W @ Ff 2 AR e iR
“Organizational culture emphasizes building on employees’ strength and

rewards more than punishments. It emphasizes individual vitality and growth.”
Ehucidate.
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R{ue—B / SECTION—B

5. fmfaiga = o Ay (W& Tm 150 =6 ®) ¢

Explain the following (each in about 150 words] :

fa)

(b}

(c}

(d)

(e}

(b)

fc/

BIGE I IHE
Ethical Training

IR ey e
Stock Option Scheme

AHe garA afEie (srseai)

HR Outsourcing

a1 F9E A wrEfwn

Induction vs. Orientation Programme

$-oreff

e-Recruitment

1w 2 5 i sie e sdedt § S swaedl (9FRe) T ¥, wufy swesh g
T o e 8 gerEl A g § it weme drar 37 o Fner € vgem AR ofk
Fia fodmm # ot wrfe ot o s % geme T A

Why are workers not more proactive in job analysis programmes, though it is
more helpful in their possible development in comparison to managers?
Identify the reasons and offer suggestions to make the job analysis more
relevant and effective. '

"ot W WY SRR ST Therew, W g ofk weefifve wem @ afw 3, ok
AT T F AR % e A w A e @ g1 GRS A 3w e # T
Ul & TEET ® gurt ¥ oy gaares @ @ faww i)

“Indian trade union movement is plagued by intraunion rivalry, outside
leadership and political patronage, and has failed.to serve the purpose of its

own formation.” Elucidate and develop a suggestive framework to improve the
functioning of trade unions in India.

wRd | 59 i, w9 faum oft aeg 99 oneeR W g A e (3o Te o)
T R qhEor iR

Examine the influence of ILO on labour policy, labour legislation and trade
union movement in India.
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(@)

{b)

fc)

{b)

(e}

“ffRm sy (tggewie dum) 3 gesfs g9 ol § e Wy amaEm
(3o e FERE) R Sget 7wE et 217 T Fo F Figand? 1 s Fifvrgt 38 w0l
A, whetEl & R 3 g f ™ sed Den 1w @R

“Disinvestment programme has adversely affected the IR climate in public
enterprises.” Assess the implications of this statement. In this context, make
out a viable plan to protect the interest of employees.

“Prir v FEERA & aeafe T % R ow wgfod sfetm AR (uEe o) 6
sy B 30 AW W I e A wEa g Afed Aif faa & v arfteed B st
. #ifer

“There is a need for a balanced exit policy for the mutual benefit of employer
and employees.” Keeping this in your mind, outline the salient features of exit
policy statement.

A § i et A oeen w8 F @ aom (W) 9 ¥, g Paws it s
3 & Iurml w el i)

There are two approaches of managing industrial disputes in an organization,
viz., preventive and curative. Discuss these two approaches.

“Frwe e FREY awa & fRimet i oad A 3 A% dsw & ot wem o 3w 9
amash (MRe) 2’ ) wu W Rl Hfvw Ak 39 g8 f vewm B, Rad Fwo we
3§ o5 wdwn ol o T T W Rl

“Skill development programme fits into recruitment policy of Indian einployers
and Government is also proactive to i1t.” Comment on the statement and
identify the issues as to why this programme is not successful in India so far.

“sftepl ® ufie wrfied vam FrRfEE 4 am R % foe wee 6w o g, Tel Oy
s Awaa F1 & TR 9= ) 3@ FoA & e o, 3 o IRt wu w
favdum Fifse i s wufiedl Fi siftr sEeEE o) yvE TR & fow gema wgw At

“Workers have not been empowered to participate in worker participation
management programmes, though it is a popular instrument of industrial
democracy.” In the light of the statement, analyze the factors responsible for it
and offer suggestions to make the worker participation more viable and
effective.

T A e Wi FfeE § 9gd g sfre e (eHatia) o i i g 1 e
i, 7ol 7% TRyl 9 wwd B N ww o fm wftwauiens @) T wT™
(fdw) =t agrt f & FE-T= A AR

Examine the reasons and impact of growing labour turnover in Indian IT

companies, though their compensation package is better and more
competitive. Prepare a plan of action to improve their retention.
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